AR YRR FELEERD > 2V NBREE L
108 5 & g b winmg 4 2 51 & RIRIWMFERE S

IR EE)eu e F- L e
D

T AP (%R) 1 B (B) (C3104)

LR D00 A4 o
D EEEREICE S FAEE - E 3 @R R

FPHE Y SREGH RN e LA

. HEREE 20 %o




rH - B e
%% (B)
HiE3 > £ 2031 > 5 35 5 A
L% A(-1,1),B(3,X) % «HET 5 + - B > ¢ sv AB=5 fx=?
(A) -4 -2
(B) —4#2
(C) —2&4
(D) 284

KT o E&L AL 2LLAL o FgEMLAF=2 7 LilER
(-L2) > TP F mE ALY

(A) (=5,0)

(B) 3,0)

(C) (=2,0)

(D) (2,0)

© 5 0=3882°> Bl —5 5 & %4 ?

USHEN

(A)$ 1% "2 &
(B)% 11 % '2 &
(C)% T % *T &
(D)% 1V % *2 &

-2

¢ sra=2" > b=2JE ; c=(%)2 v BT A ﬁﬂiﬂ”fkié’i ?
(A) a>b>c
(B) b>c>a
(C) c>a>b
(D) b>c>a

2
¢ frlogm=3- logh=5> R logn;—()n: ?
(A) 6
(B) 8
(C) 10
(D) 11

*P
oy

|+
N
b



rH-Ee
#5 (B)

6. ¥|n=1+3+5+~-+21’ﬂd?%:?
(A)9
(B) 11

(C) 99
(D) 121

. x—x*-2 X o ,
70w e XX e+ 300 BT s R a2

(A) P(X)=x*-1

(B) PO)=x*+1

(C) QX)) =-1

(D) Q) =1

2x—-y=0

Rl x+y=7?
TX+4y=5 y

8. Q%—%i%ﬁﬁ{
(A) 0
(B)

(C)
(D)

1 5 25
9. I 7 49|=9
1 11 121

(A) 8
(B) 12
(C) 24
(D) 48

1
3
1
2
1

y
(\ O]
3|

.
N
3|



rH - B e
#5 (B)

10,77 % 5% 3% _ox>107f& ?

(A) —lsxsé

1
(B) ——<x<1
3

11.f 2037 FHR5hE ERENAN - P24 887 F s ?
(A) 10
(B) 20
(C) 190
(D) 380

- E 5 Fa=(7,x1)

|l
=1

Q]
%
o
9

|l

12,2 &wa@,bi L5 1 a w
b=(3,7) ® £ x=2°

(A) -2
(B) 0
(C) 2
(D) 6

13,2 52 A2 58 X +y +4x-2y-11=0 > R ™ 5] fcif o F & Fa 7
R e
(B)FI = (2, -1 2 * i =4
(O = (2,2 * £=411
(D)= 2,-) 2 * =411

14.¢ srirFl T 5 + 3 & 8B F(6,-2)% F'(=6,-2)> ¥ ¥ F + = 3 &%
AL B EEg e s 200 RIT ORI R R0 PR AR 2

64 100

(B) X _+(y-r2) 1
100 64

) X, U+2
36 100

(D) X +_(y+2) 1
100 36

1
(OS]
=i

.
N
>



rH - B e

15. sinl1°co0s19° —cos11°sin19°= ?

(A) 1
(B)

(C)
(D) 1

N‘&N‘S‘Nl

16.% P(A)=04 ~ P(B)=05+ P(ANB)=02 " BRI T 7| ¥ % w % &
(AAZB: 3 5 % i#
(B) ¥ # A& Bt 3 Jb =
(C) P(B|A)=0.6
(D) P(AB)=0.2
17.3 £7 7] 10 & ¥ & {18,2,20,42,6,9,9,10,13,19} 2 ¢ = ¥k
(A)9
(B) 10
(C) 10.5
(D) 11.5

18. 3 fin— 22 B F 3 @R gBcfo i 788 1022 % F
(A)

(B)
(C)
(D)

AN| = O | = =

19. % & #ie (0 =(0x" +2x=5)2x+1) » & /(0)=?

(A) -8
(B) -5
(C) 4
(D) 1

y
A
i

.
N
=i

#%(B)

FE 7

v



rH - B e
w2 ()
20 &gt A [2x=1)dx=2
(A) 3
(B) 6
(©)9
(D) 18

1
W
oy

.
N
=



